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3.1 (VM 4—
mm 800x 410
(X) mm 630
( ) (Y) 410
( )(2) 460
mm/min 1 10000
m/min|{ XY 24 Z 16
Min-1 25 6000

S5

2
kg 500
mm + 99999.999
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3.3
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3.2 AC

AH11-104/204

120Q 1kQ

2V,0.5Vrms

AH11-104 25kHz  AH11-204 5kHz

+ 2 + 10000x 10

200x 106 5v VAR

200 500 1k 2k 5kx 106 IFS OFF

(VAR BV=2V)

+ 0.2 /FS

DC 10kHzx 10 (AH11-104)

DC 2kHzzx 10

3.3 AH11-109

T (CC) E (CRC) J (IC) K (CA
T Tl —150 150 T2 —200 300
E E1 —200 400 E2 —200 800
J Jl1 —200 400 J2 —200 800
K K1 —200 600 K2 —200 1200
+ 2
+ 05 FS (0] ) + 10 /FS (0]
75 p-p(K —200 1200 w/B )
DC 200kHz 1dB 3dB
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8 (AH1108)
4 LED
3 /
(V ACV )
4 )
GP-IB RS-232C ( )
(
CH CH)
2Vrms 25kHz 5kHz
/
+ CAL
29.4m/s2(3G)
AC1kV
-10 40 20 85 RH
AC100+ 10 (AC120 220 240V )
AH1108 80VA AH1116 170VA
DC10.5v 15V AH1108 4A AH1116 8A(12V
)
AH1108 9kg
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332 A/D

16 A/D PCI 3155
34
3.5

3.4 PCI-3155
3.5 PCI-3155
16 / 8

FIFO
10p s( )
10u s/ ( )
16 bit

+ 1V, 25V,= 5V, 10V
PCI (Rev.2.1  ),32bit,33MHz

[174.63(D)x 106.68(H)]mm
DC 5V,1A(TYP)
1/0 32 4

1
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ANSYS

4.2
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4.8 ANSYS
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KYOWA
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KFG-2-120-C1-23

GAGE LENGTH 2mm
GAGE RESISTANCE 119.8 + 0.2Q
GAGE FACTOR 212 + 10
ADOPTABLE THERMAL 23.4 PPM/
EXPANSION
TRANSVERSE SENSITIVITY 0.70
4.1
2

2 2
1 2

|
U wBEE)
2T P FITr—0&
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10x

30.0x

2.14

I+
(6)]

VisualC++

65536

/ 65536 5

(2.3)

I+

€

10

32768 / 65536
5

65536

5

150

2.2

x 1/2

150

(2.4)

2.1
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51
L
51
3FL
max
2EDbt?
6FL
€ max >
Ebt
F
3bt?
6L max
FL3

2EDbt?®

€ max

N T
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5.2

30

30

5.3

54

5.5

5.6
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Strain[u st]

SensorA

|— SensorA

Time[min]

5.3 SensorA

Starain[p st]

20

-20
-40
-60
-80
-100
-120
-140

SensorB

N\

N

N /

~/

Time[min]

5.4 SensorB
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Starin[p st]

20

-20
-40
-60
-80
-100
-120
-140
-160

SensorC

-

Time[min]

5.5 SensorC

Starin[p st]

-20

-40

-60

-80

-100

-120

SensorD

-

Time[min]

5.6 SensorD
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Temperature[ ]

SensorkE
20
0
v -20
3
£ 40
» -60
-80
-100
Time[min]
5.7 SensorE
30 30

Time[min]

5.8
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5.6

5.7

5y st

41



5.3 ANSYS
5.2 ANSYS
69Gpa
0.33
2710[kg/m3]

(kg) (N) (b st) | ANSYS (b st) (b st)
0.13 1274 3.32601 3.20615 -0.11986
0.26 2548 6.24022 6.4124 0.17218
0.39 3.822 9.45229 9.6186 0.16631
052 5.096 12.815 12.8244 0.0094
0.7 6.86 17.5821 17.2338 -0.3483
0.87 8.526 21.9767 21.4563 -0.5204

1 9.8 23.2349 24.6632 1.4283

5.1 A

(kg) (N) (b st) | ANSYS (b st) (b st)
0.13 1274 2.91599 3.20615 0.29016
0.26 2548 5.81558 6.4124 0.59682
0.39 3.822 8.92667 9.6186 0.69193
0.52 5.096 11.2975 12.8244 1.5269
0.7 6.86 14.8468 17.2338 2.387
0.87 8.526 18.0784 21.4563 3.3779

1 9.8 21.1827 24.6632 3.4805
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5.2 B
(kg) N) (b st) | ANSYS (b st) (b st)
0.13 1274 3.37248 3.20615 -0.16633
0.26 2.548 6.40578 6.4124 0.00662
0.39 3.822 9.58109 9.6186 0.03751
0.52 5.096 13.0175 12.8244 -0.1931
0.7 6.86 16.8485 17.2338 0.3853
0.87 8.526 21.9694 21.4563 -0.5131
1 9.8 23.7365 24.6632 0.9267
5.3 C
(kg) (\) (M st) | ANSYS (b st) (b st)
0.13 1274 345147 3.20615 -0.24532
0.26 2.548 7.19627 6.4124 -0.78387
0.39 3.822 9.31095 9.6186 0.30765
0.52 5.096 12.1279 12.8244 0.6965
0.7 6.86 16.8582 17.2338 0.3756
0.87 8.526 20.6836 21.4563 0.7727
1 9.8 24.2514 246632 0.4118
5.4 D
(kg) N) (b st) | ANSYS (b st) (b st)
013 1274 2.65542 3.20615 0.55073
0.26 2.548 5.68905 6.4124 0.72335
0.39 3.822 8.31282 9.6186 1.30578
0.52 5.096 11.0634 12.8244 1761
0.7 6.86 14,6175 17.2338 2.6163
0.87 8.526 18.2064 21.4563 3.2499
1 9.8 20.2249 24.6632 4.4383
5.5 E
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Strain(st)
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127 255 382 51 686 853 98
Force(N)
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ANSYS
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—<— SensorD
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Force(N)

5.10 ANSYS
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ATC
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8
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= 2 N SensorC
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50 » L SensorD
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30 30
20
15
= 10 —— SensorB
3 \ —— SensorA
% 5 /- = SensorC
g MFWWWW SensorD
@ —— SensorE
5 0 10 20 30 40
-10
Time[min]
5.14 30 30
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SensorC SensorkE
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1.60E+02
___1.40E+02
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= 1.00E+02
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6.00E+01
4.00E+01
2.00E+01
0.00E+00
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5.17
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(b m)
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I
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o
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(1 st)
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5.18 A
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(min)
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5.19 B
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1.40E+02
1.20E+02
'E 1.00E+02
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6.00E+01
4.00E+01
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S
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0.00E+00
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7.1

0.7mm
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7.2
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7.3
[1]

[2]

3]

[4]

[5]

[6] OKK () VM4-

,PpP58-62,

,pp42-54,
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7.4

01805 GO01 Z0.0;
G90 GO0 G54 X0. YO0. Z0.; GO0 X8.6 Y7.35;
G43 H12; GO01 Z-47.0;
S1000 M03 M08 F60; GO01 Z0.0;
G90 Z0.; GO00 X36.4 Y7.35;
GO0 X22.5 Y25.0; GO01 Z-47.0;
GO01 Z-28.0; GO01 Z0.0;
GO01 Z0.0; G00 G28X0.Y0.20.;
GO00 X0.0 Y0.0; MO5MO09;
MO5 MO09; TOG6;
MO2; MO6;

GO0 G90 G54 X0. YO0. Z0.;
G43 H13;

01806 S1000 M0O3 M08 F60;
G90 GO0 G54 X0.0 Y0.0 Z0.0; G90 Z0.0;
G43 H12; GO0 X8.6 Y72.65;
S1000 M0O3 M08 F60; GO01 Z-16.0;
G90 Z0.0; GO01 Z0.0;
GO0 X8.6 Y72.65; GO0 X36.4 Y72.65;
GO01 Z-47.0; GO01 Z-16.0;
GO01 Z0.0; GO01 Z0.0;
GO0 X36.4 Y72.65; GO0 X8.6 Y7.35;
GO01 Z-47.0; GO01 Z-16.0;
GO01 Z0.0; GO01 Z0.0;
GO00 X25.0 Y50.0; GO00 X36.4 Y7.35;
GO01 Z-47.0; GO01 Z-16.0;
GO01 Z0.0; GO01 Z0.0;
GO00 X19.25 Y31.475; GO00 X0.0 Y0.0;
GO01 Z-47.0; MO5 MO09;



MO2;

01807

G90 GO0 G54 X0.0 Y0.0 Z0.0;

G43 H12;

S1500 M03 M08 F60;

G90 Z0.0;
GO0 Y60.0;
GO01 Z-12.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;
X0.0;
Y0.0;
X45.0;

GO01 Z0.0;
GO00 X0.0 Y60.0;
GO01 Z-15.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;

X0.0;

Y0.0;
X45.0;

GO01 Z0.0;
GO00 X0.0 Y60.0;
G01 Z-17.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
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Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;
X0.0;
Y0.0;
X45.0;
GO01 Z0.0;
GO0 X0.0 Y60.0;
GO01 Z-20.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;

Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;
X0.0;
Y0.0;
X45.0;
GO01 Z0.0;
GO00 X0.0 Y60.0;
GO01 Z-22.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
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Y5.0;
X0.0;
Y0.0;
X45.0;
GO01 Z0.0;
GO0 X0.0 Y60.0;
GO01 Z-25.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;
X0.0;
Y0.0;
X45.0;
GO01 Z0.0;
GO00 X0.0 Y0.0;
MO5 MO09;
MO2;
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01809

G90 GO0 G54 X0.0 Y0.0 Z0.0;
G43 H12;

S1000 M0O3 M08 F60;
G90 Z0.0;

GO0 X8.6 Y22.65;
GO01 Z-33.0;

GO00 Z0.0;

GO0 X36.4 Y22.65;
GO01 Z-33.0;

GO00 Z0.0;

GO0 X8.6 Y7.35;

GO01 Z2-47.0;

GO00 Z0.0;

GO0 X36.4 Y7.35;
GO01 Z-47.0;

GO00 Z0.0;

GO00 G28 X0.0 Y0.0 Z0.0;
MO5 MO09;

TOG6;

MOG;

GO0 G90 G54 X0. YO0. Z0.;
G43 H13;

S1000 M0O3 M08 F60;
G90 Z0.0;

GO0 X8.6 Y22.65;
GO01 Z-16.0;

GO01 Z0.0;

GO0 X36.4 Y22.65;
GO01 Z-16.0;

GO01 Z0.0;

GO0 X8.6 Y7.35;

GO01 Z-16.0;

GO01 Z0.0;



GO0 X36.4 Y7.35;
GO01 Z-16.0;

GO01 Z0.0;

GO0 X0.0 Y0.0;,
MO5 MO09;

MO2;

01810;

G90 GO0 G54 X0.0 Y0.0 Z0.0;
G43 H13;

S1500 M03 M08 F60;
G90 Z0.0;

GO0 Y30.0;

GO01 Z-12.0;

GO01 X45.0;

Y25.0;

X0.0;

Y20.0;

X45.0;

Y17.0;

X0.0;

GO01 Z0.0;

GO00 X0.0 Y0.0;

MO5 MO09;

MO2;

01811

G90 GO0 G54 X0. YO0. Z0.;
G43 H12;

S1000 M0O3 M08 F60;
G90 Z0.;

GO0 X22.5 Y25.0;

GO01 Z-33.0;

66

GO01 Z0.0;

GO00 X0.0 Y0.0;
MO5 MO09;
MO02;

%

FO0.5

M80

M82

M84

G41

H1=140

G90
G92X1.Y0
G01X0YO
G01X-36.5Y0
G01X-36.5Y-8.5
GO01X1.Y-8.5
G40

MO02

%

%

H1=140

G90
G92X0YO0
G42
G01X100.YO0.
%



%

FO0.5

M80

M82

M84

G90

G92X0YO0

G41
G01X0.Y5.5
GO01X-5.Y5.5
G01X-11.Y-9.5
G01X15.5Y-9.5
G01X21.5Y5.5
GO01X-1.Y5.5
G40

MO02

%

%

FO0.5

M80

M82

M84

G90

G92X0YO0

G41
G01X0Y9.5
G01X-13.5Y9.5
G01X-13.5Y5.1
G01X-20.Y5.1
G01X-20.Y-5.5
G01X8.5Y-5.5
G01X8.5Y9.5
G01X-1.Y9.5
G40
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MO02
%

%

FO0.2

M80

M82

M84

G90
G92X0.Y1.
G41
G01X0.Y-15.
G01X15.Y-15.
G40

MO02

%



I Dlg.cpp :
I

#include "stdafx.h"

#include " .h"
#include " Dlg.h"
#include"FbiAd.h"

#ifdef DEBUG
#define new DEBUG_NEW
#undef THIS_FILE

static char THIS FILE[]=__ FILE ;

HANDLE hDeviceHandle;
WORD wSmpData[30000][5];
int SamplingNum;

inti;

ULONG ulSmpINum;
ADSMPLREQ SmplConfig;
int

68

chl,ch2,ch3,ch4,ch5,x1,x2,ynewl,ynew2,ynew3,ynew4,ynew5,yold1,yold2,yol

d3,yold4,yold5,xa,SaveData;
int Grafu;

CString A,B,C;

char dummy[256];

FILE *fp;

int SamplingPeriod=0;

int SamplingFreg=0;

#endif

T T nn§ |

I

CAboutDlIg
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class CAboutDlg : public CDialog

{
public:
CAboutDIg();
I
I{{AFX_DATA(CAboutDIg)
enum { IDD = IDD_ABOUTBOX };
INAFX_DATA
/I ClassWizard
I{{AFX_VIRTUAL(CAboutDIg)
protected:
virtual void DoDataExchange(CDataExchange* pDX); I
DDX/DDV
IIMAFX_VIRTUAL
I
protected:
I{{AFX_MSG(CAboutDlIg)
IMAFX_MSG
DECLARE_MESSAGE_MAP()
%
CAboutDIg::CAboutDIg() : CDialog(CAboutDlIg::IDD)
{
I{{AFX_DATA_INIT(CAboutDlIg)
IMAFX_DATA_INIT
}

void CAboutDlg::DoDataExchange(CDataExchange* pDX)
{
CDialog::DoDataExchange(pDX);
I{{AFX_DATA_MAP(CAboutDlIg)
IMAFX_DATA_MAP



BEGIN_MESSAGE_MAP(CAboutDlg, CDialog)
I{AFX_MSG_MAP(CAboutDIg)
I
INAFX_MSG_MAP
END_MESSAGE_MAP()

o
/I CMyDlg

CMyDIg::CMyDIg(CWnd* pParent /*=NULL*/)
: CDialog(CMyDlg::IDD, pParent)

I{{AFX_DATA_INIT(CMyDIg)
m_message = _T(");
m_elch=_T(";
m_e2ch =_T(");
m_e3ch=_T(");
m_edch =_T(");
m_e5ch =_T(");
m_chl = FALSE;
m_ch10 = FALSE;
m_ch11l = FALSE;
m_ch12 = FALSE;
m_ch13 = FALSE;
m_ch14 = FALSE;
m_ch2 = FALSE;
m_ch3 = FALSE;
m_ch4 = FALSE;
m_ch5 = FALSE;
m_ch6 = FALSE;
m_ch7 = FALSE;
m_ch8 = FALSE;
m_ch9 = FALSE;
IMAFX_DATA_INIT
I : Loadlcon Win32 Destroylcon
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m_hlcon = AfxGetApp()->Loadlcon(IDR_MAINFRAME);

void CMyDlg::DoDataExchange(CDataExchange* pDX)

{

CDialog::DoDataExchange(pDX);
I{{AFX_DATA_MAP(CMyDIg)
DDX_Control(pDX, IDC_PICT, m_pict);
DDX_Control(pDX, IDC_PICT5, m_5ch);
DDX_Control(pDX, IDC_PICT4, m_4ch);
DDX_Control(pDX, IDC_PICT3, m_3ch);
DDX_Control(pDX, IDC_PICT2, m_2ch);
DDX_Control(pDX, IDC_PICT1, m_1ch);
DDX_Control(pDX, IDC_SAMPLING, m_sampling);
DDX_Control(pDX, IDC_SMPNUM, m_smpnum);
DDX_Control(pDX, IDC_SMPFREQ, m_smpfreq);
DDX_Control(pDX, IDC_STOP, m_stop);
DDX_Control(pDX, IDC_START, m_start);
DDX_Control(pDX, IDC_SET, m_set);
DDX_Control(pDX, IDC_ADCLOSE, m_adclose);
DDX_Control(pDX, IDC_ADOPEN, m_adopen);
DDX Text(pDX, IDC_EDIT_MESSAGE, m_message);
DDX_Text(pDX, IDC_CH1, m_elch);
DDX_Text(pDX, IDC_CH2, m_e2ch);
DDX_Text(pDX, IDC_CH3, m_e3ch);
DDX_Text(pDX, IDC_CH4, m_e4ch);
DDX_Text(pDX, IDC_CH5, m_e5ch);
DDX_Check(pDX, IDC_CHECK1, m_chl);
DDX_Check(pDX, IDC_CHECK10, m_ch10);
DDX_Check(pDX, IDC_CHECK11, m_ch11);
DDX_Check(pDX, IDC_CHECK12, m_ch12);
DDX_Check(pDX, IDC_CHECK13, m_ch13);
DDX_Check(pDX, IDC_CHECK14, m_ch14);
DDX_Check(pDX, IDC_CHECK2, m_ch2);
DDX_Check(pDX, IDC_CHECKS, m_ch3);
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DDX_Check(pDX, IDC_CHECK4, m_ch4);
DDX_Check(pDX, IDC_CHECKS5, m_ch5);
DDX_Check(pDX, IDC_CHECKS6, m_ch6);
DDX_Check(pDX, IDC_CHECK7, m_ch7);
DDX_Check(pDX, IDC_CHECKS, m_ch8);
DDX_Check(pDX, IDC_CHECKY, m_ch9);
IMAFX_DATA_MAP

BEGIN_MESSAGE_MAP(CMyDlIg, CDialog)
I{AFX_MSG_MAP(CMyDIg)
ON_WM_SYSCOMMAND()

ON_WM_PAINT()
ON_WM_QUERYDRAGICON()
ON_BN_CLICKED(IDC_ADOPEN, OnAdopen)
ON_BN_CLICKED(IDC_ADCLOSE, OnAdclose)
ON_BN_CLICKED(IDC_START, OnStart)
ON_BN_CLICKED(IDC_SET, OnSet)
ON_BN_CLICKED(IDC_RADIO1, OnRadiol)
ON_BN_CLICKED(IDC_RADIO2, OnRadio2)
ON_WM_TIMER()
ON_BN_CLICKED(IDC_STOP, OnStop)
ON_BN_CLICKED(IDC_SERVERCON, OnServercon)
ON_BN_CLICKED(IDC_CHECK1, OnCheck1)
ON_BN_CLICKED(IDC_CHECK2, OnCheck2)
ON_BN_CLICKED(IDC_CHECKS, OnCheck3)
ON_BN_CLICKED(IDC_CHECK4, OnCheck4)
ON_BN_CLICKED(IDC_CHECKS5, OnCheck5)
ON_BN_CLICKED(IDC_CHECK®6, OnChecks)
ON_BN_CLICKED(IDC_CHECK7, OnCheck?)
ON_BN_CLICKED(IDC_CHECKS, OnChecks)
ON_BN_CLICKED(IDC_CHECKY, OnCheck9)
ON_BN_CLICKED(IDC_CHECKZ10, OnCheck10)
ON_BN_CLICKED(IDC_CHECK11, OnCheck11)
ON_BN_CLICKED(IDC_CHECK12, OnCheck12)
ON_BN_CLICKED(IDC_CHECK13, OnCheck13)
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ON_BN_CLICKED(IDC_CHECK14, OnCheck14)
IMAFX_MSG_MAP
END_MESSAGE_MAP()

T L T
/I CMyDlg

BOOL CMyDlg::OnlInitDialog()

{
CDialog::OnlInitDialog();

n
/[ IDM_ABOUTBOX

ASSERT((IDM_ABOUTBOX & OxFFF0) == IDM_ABOUTBOX);
ASSERT(IDM_ABOUTBOX < 0xF000);

CMenu* pSysMenu = GetSystemMenu(FALSE);

if (pSysMenu !'= NULL)

{
CString strAboutMenu;
strAboutMenu.LoadString(IDS_ABOUTBOX);
if (!strAboutMenu.IsEmpty())

{
pSysMenu->AppendMenu(MF_SEPARATOR);

pSysMenu->AppendMenu(MF_STRING,
IDM_ABOUTBOX, strAboutMenu);

}
I

I
Setlcon(m_hlcon, TRUE); I
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Setlcon(m_hlcon, FALSE); I

// TODO:

m_adclose.EnableWindow(FALSE);
m_adopen.EnableWindow(TRUE);

m_start.EnableWindow(FALSE);
m_stop.EnableWindow(FALSE);

return TRUE; // TRUE

void CMyDIg::0OnSysCommand(UINT nID, LPARAM IParam)

{
if (N1D & OXFFFO) == IDM_ABOUTBOX)

{
CAboutDlIg dligAbout;
dlgAbout.DoModal();
}
else
{
CDialog::OnSysCommand(nID, IParam);
}
}
I
I MFC

document/view
Il

void CMyDIg::OnPaint()

{
if (Islconic())
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CPaintDC dc(this); //

SendMessage(WM_ICONERASEBKGND, (WPARAM)
dc.GetSafeHdc(), 0);

I

int cxlcon = GetSystemMetrics(SM_CXICON);
int cylcon = GetSystemMetrics(SM_CYICON);
CRect rect;

GetClientRect(&rect);

int x = (rect. Width() - cxlcon + 1) / 2;

inty = (rect.Height() - cylcon + 1) / 2;

I
dc.Drawlcon(x, y, m_hlcon);

CDialog::OnPaint();

I
I
HCURSOR CMyDIg::OnQueryDraglcon()

{
return (HCURSOR) m_hlcon;

void CMyDIg::OnAdopen()

{
/I TODO:

m_adclose.EnableWindow(TRUE);
m_adopen.EnableWindow(FALSE);
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m_message="AD
hDeviceHandle = AdOpen("FBIAD1");
if (hDeviceHandle == INVALID_HANDLE_VALUE){
MessageBox("Device FBIAD1 ");
exit(0);

}

AdGetSamplingConfig(hDeviceHandle,&SmplConfig);
SmplConfig.ulSmpINum = SamplingNum;
SmplConfig.ulChCount =5;

SmplConfig.ulSamplingMode = AD_10_SAMPLING;

SmplConfig.ulSingleDiff =AD_INPUT_SINGLE;

SmplConfig.fSmplFreq= SamplingFreq;

SmplConfig.SmplIChReq[0].ulChNo = 1;
SmplConfig.SmplChReq[0].ulRange = AD_5V;
SmplConfig.SmplChReq[1].ulChNo = 2;
SmplConfig.SmplChReq[1].ulRange = AD_5V;
SmplConfig.SmplChReq[2].ulChNo = 3;
SmplConfig.SmplChReq[2].ulRange = AD_5V;

SmplConfig.SmplIChReq[3].ulChNo = 4;
SmplConfig.SmplChReq[3].ulRange = AD_5V;

SmplConfig.SmplChReq[4].ulChNo = 5;
SmplConfig.SmplChReq[4].ulRange = AD_5V;

AdSetSamplingConfig(hDeviceHandle,&SmplConfig);
UpdateData(false);

void CMyDIg::OnAdclose()

{
m_message="AD "
m_adclose.EnableWindow(FALSE);
m_adopen.EnableWindow(TRUE);
m_start.EnableWindow(FALSE);

m_stop.EnableWindow(FALSE);

m_set.EnableWindow(TRUE);
/l TODO:
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AdClose(hDeviceHandle);
UpdateData(false);

void CMyDIg::OnStart()

{

// TODO:

m_message="
m_start.EnableWindow(FALSE);
m_stop.EnableWindow(TRUE);
m_smpfreq.GetWindowText(B);
SamplingFreg=atoi(B);

m_smpnum.GetWindowText(C);

SamplingNum=atoi(C);
if(Grafu==1){

SetTimer(1,45,NULL);

/I1CH
CBrush newBrush;
CDC* pDC=m_1ch.GetDC();
newBrush.CreateSolidBrush(RGB(255,0,0));
p D C ->SelectObject(&newBrush);
p D C ->Rectangle(0,0,10,10);
/12CH
CDC* pDC2=m_2ch.GetDC();
CBrush newBrush2;
newBrush2.CreateSolidBrush(RGB(0,0,255));
p D C2->SelectObject(&newBrush2);
p D C2->Rectangle(0,0,10,10);
//13CH
CDC* pDC3=m_3ch.GetDC();
CBrush newBrush3;
newBrush3.CreateSolidBrush(RGB(0,255,0));
p D C 3->SelectObject(&newBrush3);
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p D C 3->Rectangle(0,0,10,10);

/1ACH
CDC* pDC4=m_4ch.GetDC();

CBrush newBrush4;
newBrush4.CreateSolidBrush(RGB(0,255,255));

p D C4->SelectObject(&newBrush4);
pDC4->Rectangle(0,0,10,10);

//[5CH
CDC* pDC5=m_5ch.GetDC();

CBrush newBrushb;
newBrush5.CreateSolidBrush(RGB(255,0,255));
p D C5->SelectObject(&newBrushb);
p D C5->Rectangle(0,0,10,10);
I
CDC*pDC6=m_pict.GetDC();
pDC6->MoveTo(0,200);
pDC6->LineTo(410,200);
pDC6->MoveTo(10,0);
pDC6->LineTo0(10,310);
}
if(SaveData==1){
AdStartSampling(hDeviceHandle, FLAG_SYNC);
ulSmpINum=SamplingNum;

AdGetSamplingData(hDeviceHandle, &wSmpData[0][0],

&ulSmpINum);
fp = fopen("SampleData.txt","w+");

if(fp==NULL)
fprintf(stderr,"¥n ¥t Cannot Open SampleData.txt¥n¥t");

}

for (i=0; i<SamplingNum; i++)

fprintf(fp,"%.2f % f %f %f %f
% f
¥n",i*1/SmplConfig.fSmplFreq,(10.0*wSmpData[i][0]/65536-5.0)*0.9,

(10.0*wSmpData[i][1]/65536-5.0)*0.9,(10.0*wSmpDatal[i][2]/65536-5.
0)*0.9,(10.0*wSmpData][i][3]/65536-5.0)*0.9,(10.0*wSmpDatal[i][4]/65536-5.0



)*0.9);
fclose(fp);
m_message="
AdStopSampling(hDeviceHandle);

UpdateData(false);

void CMyDIg::0OnSet()

{
/I TODO:

m_start.EnableWindow(TRUE);
m_sampling.GetWindowText(A);
SamplingPeriod=atoi(A);
m_smpfreq.GetWindowText(B);
SamplingFreg=atoi(B);

SamplingNum=SamplingPeriod*60*SamplingFreq;

char dsp[100];
sprintf(dsp,"%d",SamplingNum);
m_smpnum.SetWindowText(dsp);

}

void CMyDIg::OnRadiol()

{
/l TODO:
m_sampling.EnableWindow(TRUE);
m_smpnum.EnableWindow(TRUE);
SaveData=1;
Grafu=0;

}

void CMyDIg::OnRadio2()
{
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// TODO:

m_sampling.EnableWindow(FALSE);
m_smpnum.EnableWindow(FALSE);

SaveData=0;
Grafu=1;
}
void CMyDIg::OnTimer(UINT nIDEvent)
{
/[ TODO:
AdStartSampling(hDeviceHandle, FLAG_ASYNC);
ulSmpINum=1000;
AdGetSamplingData(hDeviceHandle, &wSmpData[0][0],
&ulSmpINum);

sprintf(dummy, "%f",(10.0*wSmpData[0][0]/65536-5.0)/2.0);
m_elch=dummy;
sprintf(dummy, "%f",(10.0*wSmpData[1][0]/65536-5.0)/2.0);
m_e2ch=dummy;
sprintf(dummy, "%f",(10.0*wSmpData[2][0]/65536-5.0)/2.0);
m_e3ch=dummy;
sprintf(dummy, "%f",(10.0*wSmpData[3][0]/65536-5.0)/2.0);
m_e4ch=dummy;
sprintf(dummy, "%f",(10.0*wSmpData[4][0]/65536-5.0)/2.0);
m_e5ch=dummy;
I
chl=atoi(m_elch)*100.0;
ch2=atoi(m_e2ch)*100.0;
ch3=atoi(m_e3ch)*100.0;
ch4=atoi(m_e4ch)*100.0;
chb5=atoi(m_e5ch)*100.0;
X1=x1+1,
x2=x1,;



ynewl1=((ch1/4)-200)*-1;
ynew2=((ch2/4)-200)*-1;
ynew3=((ch3/4)-200)*-1;
ynew4=((ch4/4)-200)*-1;
ynew5=((ch5/4)-200)*-1;
CDC* pDC=m_pict.GetDC();
CPen
BluePen,RedPen,GreenPen,BrackPen,CianPen,MazendaPen;
RedPen.CreatePen(PS_SOLID,1,RGB(255,0,0));
p D C ->SelectObject(&RedPen);
p D C ->MoveTo(xa,yoldl);
p D C->LineTo(x2,ynewl);
yoldl=ynewl;
BluePen.CreatePen(PS_SOLID,1,RGB(0,0,255));
p D C ->SelectObject(&BluePen);
p D C ->MoveTo(xa,yold2);
p D C->LineTo(x2,ynew?2);
yold2=ynew?2;
GreenPen.CreatePen(PS_SOLID,1,RGB(0,255,0));
p D C ->SelectObject(&GreenPen);
p D C ->MoveTo(xa,yold3);
p D C->LineTo(x2,ynew3);
yold3=ynews3;
CianPen.CreatePen(PS_SOLID,1,RGB(0,255,255));
p D C ->SelectObject(&CianPen);
p D C ->MoveTo(xa,yold4);
p D C->LineTo(x2,ynew4);
yold4=ynew4;
MazendaPen.CreatePen(PS_SOLID,1,RGB(255,0,255));
p D C ->SelectObject(&MazendaPen);
p D C ->MoveTo(xa,yold5);
p D C->LineTo(x2,ynew5);
yold5=ynewb5;
Xa=x2;
if(x1>410){
CDC*pDC=m_pict.GetDC();
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CRect myRECT,;
m_pict.GetClientRect(myRECT);
p D C ->FillSolidRect(myRECT,RGB(255,255,255));
p D C ->SelectObject(&BrackPen);
pDC->MoveTo(0,200);
p D C ->LineTo(410,200);
p D C ->MoveTo(10,0);
p D C ->LineTo(10,310);
x1=9;
xa=10;
yold1=200;y0ld2=200; yold3=200;yold4=200;yold5=200;
}
UpdateData(false);
CDialog::OnTimer(nIDEvent);

}
void CMyDIg::OnStop()
{
/l TODO:
m_message=" "
KillTimer(1);
m_stop.EnableWindow(FALSE);
m_start.EnableWindow(TRUE);
UpdateData(false);
}

void CMyDIg::OnServercon()

{
I* /I TODO:

sock = new CComm;
if (sock->Initialize("210.163.149.97") == false) {
sock->~CComm();
AfxMessageBox("socket connect failed");
Pl
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void CMyDIg::OnCheck1()

{
I* /I TODO:

if(m_Chl == TRUE){
m_Chl = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Chl == FALSE)
m_Chl = TRUE;
sData.fv[0] = double(1);
m_message ="

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "g"); */

}
void CMyDIg::OnCheck2()
{
// TODO:
I* if(m_Ch2 == TRUE)

m_Ch2 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch2 == FALSE)
m_Ch2 = TRUE;
sData.fv[0] = double(1);
m_message ="



}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "h"); */

}
void CMyDIg::OnCheck3()
{
/l TODO:
I* if(m_Ch3 == TRUE){
m_Ch3 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch3 == FALSE){
m_Ch3 = TRUE;
sData.fv[0] = double(1);
m_message ="

}
sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "i"); */

}
void CMyDIg::OnCheck4()
{
/l TODO:
I* if(m_Ch4 == TRUE){

m_Ch4 = FALSE;
sData.fv[0] = double(0);
m_message ="

}
else if (m_Ch4 == FALSE)
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m_Ch4 = TRUE;
sData.fv[0] = double(1);
m_message ="

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "j"); */

}
void CMyDIg::OnCheck5()
{
/l TODO:
I* if(m_Ch5 == TRUE){
m_Ch5 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch5 == FALSE)
m_Ch5 = TRUE;
sData.fv[0] = double(1);
m_message ="

}
sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "k"); */

}
void CMyDIg::OnCheck6()
{
/l TODO:
I* if(m_Ch6 == TRUE){

m_Ch6 = FALSE;
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sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch6 == FALSE)
m_Ch6 = TRUE;
sData.fv[0] = double(1);
m_message ="

}
void CMyDIg::OnCheck5()

{
/I TODO:

I* if(m_Ch5 == TRUE){
m_Ch5 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch5 == FALSE){
m_Ch5 = TRUE;
sData.fv[0] = double(1);
m_message ="

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "k"); */

void CMyDIg::OnCheck6()

{
/I TODO:

I* if(m_Ch6 == TRUE){
m_Ch6 = FALSE;
sData.fv[0] = double(0);
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m_message ="
}
else if (m_Ch6 == FALSE)
m_Ch6 = TRUE;
sData.fv[0] = double(1);
m_message ="

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "I"); */

void CMyDIg::OnCheck7()

{
/I TODO:

I* if(m_Ch7 == TRUE){
m_Ch7 = FALSE;
sData.fv[0] = double(0);
m_message ="ATC
}
else if (m_Ch7 == FALSE){
m_Ch7 = TRUE;
sData.fv[0] = double(1);
m_message ="ATC

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "m"); */

void CMyDIg::OnCheck8()

{
/I TODO:
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/*

if(m_Ch8 == TRUE){
m_Ch8 = FALSE;
sData.fv[0] = double(0);
m_message ="ATC
}
else if (m_Ch8 == FALSE){
m_Ch8 = TRUE;
sData.fv[0] = double(1);
m_message ="ATC

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "n"); */

void CMyDIg::OnCheck9()

{

/*

// TODO:

if(m_ch9 == TRUE){
ch9 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (ch9 == FALSE){
ch9 = TRUE;
sData.fv[0] = double(1);
m_message ="

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "a"); */
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void CMyDIg::OnCheck10()

{
/I TODO:

I* if(m_ch10 == TRUE){
m_ch10 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_ch10 == FALSE)
m_ch10 = TRUE;
sData.fv[0] = double(1);
m_message ="

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "c"); */

void CMyDIg::OnCheck11()

{
/Il TODO:

I* if(m_chl1l == TRUE){
m_ch11l = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_ch11 == FALSE){
m_ch1l = TRUE;
sData.fv[0] = double(1);
m_message ="
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sock->SockWrite(sData);
UpdateData(false);
sprintf(sData.command, "b"); */

}
void CMyDIg::OnCheck12()
{
/l TODO:
I* if(m_ch12 == TRUE){
m_ch12 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_ch12 == FALSE){
m_ch12 = TRUE;
sData.fv[0] = double(1);
m_message ="
}
sock->SockWrite(sData);
UpdateData(false);
sprintf(sData.command, "e"); */
}
void CMyDIg::OnCheck13()
{
/l TODO:
I* if(m_ch13 == TRUE){

m_ch13 = FALSE;
sData.fv[0] = double(0);
m_message ="ATC
}
else if (m_ch13 == FALSE){
m_ch13 = TRUE;
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sData.fv[0] = double(1);
m_message ="ATC

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "f"); */

}
void CMyDIg::OnCheck14()
{
// TODO:
[* if(m_ch14 == TRUE){

m_ch14 = FALSE;
sData.fv[0] = double(0);
m_message ="ATC
}
else if (m_ch14 == FALSE)
m_chl14 = TRUE;
sData.fv[0] = double(1);
m_message ="ATC

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "d"); */



